CMR

INSTITUTE OF USN
TECHNOLOGY P
Internal Assesment Test - 11
Sub: Electronic Principles and Circuits Code: BEC303
Date: | 14/12/2024 | Duration: | 0 Max | 50 | Sem: |3rd | Branch: |  ECE
mins Marks:
Answer Any FIVE FULL Questions
BE
Marks O
CO | RBT
(a) Explain the working of RC phase shift oscillator. Use necessary diagrams. [6+4] |CO3| L2
(b) Explain the circuit diagram and working of crystal oscillator.
Explain the working of Astable multivibrator using 555 timer with internal
; CO3| L2
diagram and relevant waveforms. [10]
. [Explain the operation of the first order stages for both LPF and HPF active filters. | [10] |CO4| L2
Explain different types of negative feedback amplifier. Use necessary diagrams. (0] |co3| 12
(a) Explain the operation of Class B push pull emitter follower circuit.
(b) Differentiate class A, class B, and class C power amplifier. [6+4] | CO4| L2
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Draw the dc and ac load line of the following class A power amplifier.
% - O Vee=30V
6. . . [10] |CO4| L3
i;o o
= == = = . Fig 1
(a)In fig 2, R1 =33 kQ, R2 =33 kQ, R =75 kQ, and C=100 pF. What are the pole
frequency and Q? What are the cutoff and 3-dB frequencies?
!
.
1
7. T [6+4]|CO4| L3
: Fig 2
(b)Discuss the advantages and applications of bidirectional thyristors (triacs).
CI CCI HOD
For a peak-to-peak output voltage of 18 V, and input impedance of the base is 100
ohm, find the power gain, power dissipation, and power efficiency.
- 0 VCC- 30V
Ac
<R % 1200
%4909 J|£
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1800
Fig 1
(a)In fig 2, R1 =33 kQ, R2 =33 kQ, R =75 kQ, and C=100 pF. What are the pole
frequency and Q? What are the cutoff and 3-dB frequencies?
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(b)Discuss the advantages and applications of bidirectional thyristors (triacs).
CI CCI HOD
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